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Number System — 4
1. Find the place value of 9 in the number which is 1586672 more than 7423672.
a) 900000 b) 90000
c) 9000000 d) None of these
2. Find the predecessor of the number which is equal to the product of 587003 and 452.
a) 265325356 b) 265325355
c) 265325357 d) None of these
3. In the number 5275683, what is the difference between the place value of 8 and 7.
a) 69920 b) 6920
c) 669920 d) None of these

4. 80000000 + 5000000 + 80000 + 70 + 2 =

a) 850080702 b) 85080072

c) 8508072 d) None of these
5. What is the largest 8 digit number?

a) 9999999 b) 89999999

c) 99999999 d) None of these
6. Find the face value of 6 in 6570845.

a) 60000 b) 6000000

c) 600000 d) 6

7. Form the smallest number using 7, 8,9, 5, 6, 4, 3 and 2.

a) 2356789 b) 23456798

c) 23456789 d) None of these
8. What is the equivalent of 10 million in Indian number system.

a) One lakh b) Ten lakh

c) Ten thousand d) One Crore

9. Arrange the below mentioned numbers in ascending order.

986720753, 988721065, 988421065 and 898721065

a) 898721065, 986720753, 988421065, 988721065
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b) 898721065, 986720753, 988721065, 988421065

c) 898721065, 988721065, 986720753, 988421065

d) None of these

10. 800000000 + 7000000 + 20000 + + 70+ 2 =807020672

a) 60 b) 600

c) 6 d) None of these
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